Lesson 2.9
Name Enrich

Division Draw
Draw a bar model to solve each problem.

1. Keira, Larry, and Gita picked apples at an orchard. Keira picked twice
as many pounds as Larry and 3 times as many pounds as Gita. The
total weight of the apples they picked was 8,360 pounds. How many
pounds of apples did each person pick?

Keira

Larry

Gita

2. Mark orders food for a restaurant. He orders 5 times the number of
pounds of chicken as he does beef, and he orders 4 times the
number of pounds of fish as beef. The total weight of the food he
orders is 3,600 pounds. How many pounds of each item does Mark
order?

chicken

beef

fish

3. @WWrite Math » Describe how you used a bar model to
solve Problem 1.
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